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UNIVERSITY OF NORTH BENGAL 
B.A. Honours 5th Semester Examination, 2021  

DSE-P2-NEPALI 

Time Allotted: 2 Hours Full Marks: 60 

The figures in the margin indicate full marks. 

 

 The question paper contains DSE-2A and DSE-2B.
The candidates are required to answer any one from two Courses.  

Candidates should mention it clearly on the Answer Book. 

 DSE-2A 

 usikyh lekt j laLÑfr 

 lewg-d

1. rydk dquS pkjoVk iz”udk mÙkj ys[uqgksl~A 3×4 = 12

(d) yksd fo”okl HkUukys ds cqf>UN \ lksnkgj.k cq>kmuq gksl~A 
([k) rk¡ckys cusdk Hkk¡Mk dq¡Mkg:dks uke ys[uqgksl~A  

(x) <q³~xkys cusdk lkekxzhg: ds-ds gqu~ \ frudk mi;ksfxrk ifu ys[uqgksl~A  

(?k) pkM-ioZ HkUukys ds cqf>UN \ ys[uqgksl~A  

(³) usikyh lektek izpfyr Qqdsj ctkmus cktkg: ds ds gqu~ \  

(p) *lH;rk* Hkusdks ds gks \ mnkgj.k lfgr cq>kmuq gksl~A  
   
 lewg-[k

2. rydk dquS pkjoVk fo’k;ek fVIi.kh ys[uqgksl~A 6×4 = 24

(d) usikyh laLÑfrdk ewyHkwr fo”ks’krkA 
([k) usikyh os”kHkw’kk j xj xgukA  

(x) usikyh gkr gfr;kjA  

(?k) usikyh yksdcktkA  

(³) usikyh lektek izpfyr “kdquA  

(p) usikyh lektek ck¡ldks O;ogkjA  
   
 lewg-x

3. rydk dquS nqbZoVk iz”udk mÙkj ys[uqgksl~A 12×2 = 24

(d) usikyh lektdks lajpuk j fo”ks’krkckjs ppkZ xuZqgksl~A 
([k) usikyh laLdkj j yksd fo”oklckjs ,mVk xgfdyks ys[k ys[uqgksl~A  
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(x) lekt j laLÑfr ek> jgsdks lEcU/kckjs foe”kZ izLrqr xuZqgksl~A  

(?k) laLÑfr j lH;rkek ikbus lkE;-Hksn dsyk,j ,mVk ys[k ys[uqgksl~A  
   
 vFkok  

 DSE-2B 

 “kks/ki= ,oe~ ifj;kstuk i= 

 lewg-d 

1. rydk dquS pkjoVk iz”udk mÙkj ys[uqgksl~A 3×4 = 12

(d) lkexzh l³~dyu fof/k HkUukys ds cqf>UN \ Li’V ikuZqgksl~A 
([k) Hkkogj.k HkUukys ds cqf>UN \  

(x) “kks/kdks vFkZ j ifjHkk’kk ys[uqgksl~A  

(?k) dk;Zi= HkUukys ds cqf>UN \   

(³) “kks/kek iz;ksx gqus fo”ks’k midj.kg:dks uke ys[uqgksl~A  

(p) “kks/kdks lhek³~du HkUukys ds cqf>UN \ ys[uqgksl~A  
   
 lewg-[k 

2. rydk dquS pkjoVk fo’k;ek fVIi.kh ys[uqgksl~A 6×4 = 24

(d) l³~xks’Bh i=dks fo”ks’krkA 
([k) “kks/ki=dks Lo:i j fo”ks’krkA  

(x) iwoZdk;Zdks leh{kkA  

(?k) “kks/kdks mn~ns”;A  

(³) “kks/k-ys[kudks Hkk’kkA  

(p) lkfgfR;d “kks/kdk fo”ks’krkA  
   
 lewg-x 

3. rydk dquS nqbZoVk iz”udk mÙkj ys[uqgksl~A 12×2 = 24

(d) “kks/kdks vFkZ j ifjHkk’kk Li’V iknSZ ;ldks Lo:ickjs ys[uqgksl~A 
([k) “kks/kdk;Zek fo’k; p;u j rF; fo”ys’k.k-dks izfØ;kckjs ys[uqgksl~A  

(x) “kks/k xnkZ vkbiusZ leL;k j pqukSfrckjs dljh lpsr gqu lfdUN \ cq>k,j ys[uqgksl~A  

(?k) lkfgfR;d “kks/kdks iz;kstu j egÙockjs cq>km¡nS “kks/kdks “kh’kZdek gquqiusZ eq[; leL;kckjs 
ys[uqgksl~A 
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